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Exercise 3A

1 Solve these quadratic equations, giving your answers in exact
form.
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27 -3x=0
5x2-4x=0
242x7 + 2x=0
m?-11x=0

b 3x2-75=0
d 7+28=0
f V2x' —8=0
h oex'—3=0
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4 Solve forx:
a ¥ 4px-2pP=0 b ket (k+2)x+2=0
© 2ax’+6=ax+12x  d x*-2a%=b>~ax—3ab
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2 Find the value(s) of the real parameter & so that:
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X -2x—k=0
kx? + 3x 0
3x2+5x+2k-1=0

X (k+ 2+ k=0

kx?+2kx+k-2=0

2kx? + (dk+ 3)x+ k-3

has one real root
has two real roots
has no real roots
has one real root
has two real roots
has no real roots
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Exercise 3C

1 Given a quadratic equation whose roots are x, and x,, find the
indicated expression without solving the equation.

a w-3x+2=0 242 b 3¢ —5x41=0, 35 432

€ Sx'tx+3=0, d X -2x44=0,(x,

e 247 —4x+3=0, ¥ +x] £ 43xt1=0,

g 4x —Tx+1=0, x'x? +x'x} h 7x'+4x-5=0, (x,-x,)





